oopoooo I oooo o0 210120 170

Jooooogo

goboooboogobooooooboobobooboooboobuogooooon
gboooboobobobooooboobooooboobooooobooobooboo
gooobooooboooboooboboobo

. 00000000 GbPOOODODO

A. 00000 IS-LMOOO
lL.obgoboobooobooboobooboboboobobooboobooboo
2.00000000

a.GhPODOOOOOODOOODODOOOOO
b.0O0OOOO0ODOOOO

B.O0OOO0OO0OO0OOOODOOOOoOooOoOooDdg
1.000000000000

AD=C(Y —=T)+ 1(i) + G

MP = L(Y, i)
2. 0000000000000
a. 0000000000 CY-T)+I(i)+G=Y 0ISO00
b. 000000000 LY,i)=M OLMOOO
I. 00000000
A. 00O
1.0000000000000000000

2.00000
()00D000G=850000
(2)000000007T=500000
b.0000000000000MO M=4000000

2.0000000000000%00000000

a.0000000 AD=C+1+G
0000 C=104+08(Y —T)

oooo I=50—i
AD=10+08(Y —T) +50 —i + G

AD =105—-14i+0.8Y

b.00D0ODOOOO L=Y —2M!

B.OOOOOOOO
1.0000000
a. 0goooooooo

105-¢4+08Y =Y — 02Y+4+:¢=105



oopoooo I oooo o0 210120 170

b.O00OCOOOOOO
Y —20¢ =400

2.000
Y = 500, 1 =25, C = 370, I =45

III. 0ogoooo

A.00000OO0CO0O0O0ODoOoOoooooon
1.0000ADOODOOCOOODOO
a. goooboooboboooboobooobooo
b.0OOOO
()ODooo0ooooooooooo

ooooooono — [DOO000oooooo
(2000000000000 000D00O0O0000DOO0O0O0DOOO0O
googoobooobooobooboooobooboon

— goooboboobog

2. 1SO000000000
a.00000000O0DOCOOO GbPOOO
b.IS-LMOOOOOLMOOOCOOOOOOOOO

B.OOOOOO
1.GbPODODO
2.000b000 —- 0OOOUOOUOUOUObDbDbDObDOOObOb

O OOoOoOopooGE=8 — G=9

AD =110—14+40.8Y

SO0 0.2Y 44 =110
LMOO Y — 20i = 400
Y =52, i=6, C=238, I=44
IV. 0000ooo

A.00000O0O00O0opooooooooonD —- ODoOoOooooooog
l.0000000oooooooGgbPpOODOOOOODOO
a. Jgoooooooooogon
b.00OOOOO0OOOOOOOOOOO

goooo - O0Oobboboobo — Ooogd

2.LMO000000O0O0O
a.GDPOO0O0OOOOOODOOOOODOO



oopoooo I oooo o0 210120 170

b. IS-LMOOOOOISOCO0OOODOOOOOOO

B.OOOOOO
1.GbPODODO
2. 000000 — 0OO0O0O0

O 0000000000 M =400 — M =425

ISOoOd 0.2Y +1¢ =105
LMQOono Y —20¢ =425

Y =505, i=4, C=374, I=46

ooon

ooooo40099-1090000



